
®

3/01/2007

VISIT THE LIFETIME WEB SITE:

WWW.LIFETIME.COM

Double Shed Doors for Back of 11’ Shed

MODEL #0145

ASSEMBLY 
INSTRUCTIONS AND 
OWNER’S MANUAL

Save this instruction in the event that the manufacturer has to be contacted for replacement parts.

For Assistance, including missing or broken parts,
Call Customer Service at: 

1 (800) 225-3865

** Do Not Contact the Store **

INSTRUCTION #1025991

Cop
y



BEFORE BEGINNING ASSEMBLY
	 Identify and inventory all parts using the checklist boxes on the Parts List. Keep the 

hardware bags and their contents separate. If any parts are missing, call our Customer 
Service Department.

**A MINIMUM OF TWO ADULTS ARE REQUIRED FOR ASSEMBLY**

SAFETY INSTRUCTIONS
Failure to follow these safety instructions may result in serious injury or property damage. Proper and complete 
assembly, use and supervision is essential for proper operation and to reduce the risk of accident or injury. A high probability 
of serious injury exists if this display is not installed, maintained, or operated properly. • If using a ladder during assembly, 
use extreme caution. Follow all warnings and cautions on the ladder carefully. • 2 people are required for assembly. • 
Misuse could result in system failure. • If technical assistance is required, contact the manufacturer.
Most injuries are caused by misuse and/or failure to follow instructions.

PARTS LIST

1.	 7/16” Wrenches (2)
2.	 #2 Phillips screwdriver or 
	 Electric drill with pillips head

Tools and Materials 
Required for Assembly

(Not Included)

AA	 1009133 	 Right Shed Door	 1
AB	 1009134 	 Left Shed Door	 1
AC	 1007993 	 Door Top Trim 	 1
AD	 1007994 	 Door Trim A 	 2
AE	 1009489 	 Door Brace 	 6
AF	 1009522 	 Door Header Channel 	 1
AG	 1009606 	 Door End Channel 	 2
AH	 1009573 	 Right Door Hinge 	 1
AJ	 1009575 	 Left Door Hinge 	 1
BB	 1015792	 Right Door Handle	 1
BC	 1009123	 Left Door Handle	 1
Shed Door Parts Bag [1025620]
CA	 1020983	 Deadbolt Latch	 2
CB	 AC00100	 Latch	 1
CC	 1015832	 Thumb Lever 	 1
CD	 1009172	 Door Floor Bracket	 2
CE	 1009199	 Door Trim Bracket	 4
CF	 1009201	 Latch Cover Plate	 1
CG	 1026410	 Right Door Latch	 1
CH	 1026411	 Left Door Latch	 1
CJ	 1009230	 Dead Bolt Strike Plate	 1
CK	 1011133	 Door Trim Clip	 2
CL	 1014394	 Left Door Strike Plate	 1
MN	 BW00300	 1/4” Flat Washer	 2
Shed Door Hardware Bag [1012086]
MA	 1005443	 1/4” x 1/2” Carriage Bolt	 4
MB	 1008533	 #10 x 5/16” Pan Head Screw	 1
MC	 1009197	 1/4” x 1 1/2” Carriage Bolt	 6
MD	 1009210	 1/4” x 2” Carriage Bolt	 2
ME	 1011132	 #8 x 1” Pan-Head Screw	 4
MF	 300022	 1/4” Centerlock Nut	 2
MG	 BA05700	 .375” x .58” Steel Spacer	 2
MH	 BG01600	 Door Mechanism Spring	 1
MJ	 BN00300	 1/4” Cap Nut	 10
MK	 BN01600	 #10 Cap Nut	 1
ML	 BS05800	 #10 x 3/4” Pan-Head Screw	 6
MM	 BS05900	 #10 x 1/2” Pan-Head Screw	 11
FE	 BS07500	 1/4” x 5/8” Screw	 3
MN	 BW00300	 1/4” Flat Washer	 4
MP	 BW01300	 #10 Washer	 6

MM

ML

MK
MJ

MF

MP

MG

FE

MB MC

MD

MA

MN

ME

HARDWARE IS ACTUAL SIZE



�

PARTS ARE NOT ACTUAL SIZE

If you are Adding Doors to an Existing Shed
1. To obtain instructions for extending a shed that has been previously assembled, contact our 
Customer Service Department. If you have not yet assembled your shed, use the instructions on 
the following pages.

1 (800) 225-3865

To add Doors to a previously assembled shed,
Call Customer Service for Instructions: 

CA

CB
CC

CD
CE

CF

CG CH

CJ

CK
AA

AB

AC AD

AF

AE

AJ

AH

AG

BB BC

CL



�

Adding Additional Doors During Shed Assembly
This Kit will allow you to add an extra set of doors at the rear end of your 11’ shed.

1. Check contents of boxes and compare to parts listed on the Parts List.
2. Follow instructions that came with your shed, but when you come to the following sections of 
your Owner’s Manual follow the instructions listed below.

Instead of installing the two (center) back wall panels, leave a gap and continue with  the 
“Assemble Next Corner” step (for the rear left corner). 

Assemble Next Corner (for rear left corner of shed)

1

2

Installing Corner Channels

1. Loosely insert top two screws.
2. Insert bottom two screws (tighten completely).
3. Insert remaining screws (tighten).
4. Tighten top screws.

3

AI

FE

FE

4

A
ss

em
bl

y 
Ti

p 
#2

The top of the 
channel is the 

end with the holes 
closest to the end.

Leaving a gap along the back wall as instructed above continue the shed assembly with 
the back left corner of the shed. Follow steps and Assembly Tips as written in the Owner’s 
Manual.

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.

Assemble Back Wall



�

Left Door Assembly

Rest Left Door (AB) with front side down. Position 
Deadbolt Latches (CA) in slots at top and bottom of 
door then slide Door End Channel (AG) onto the door.

The Door End Channel 
fits onto door with the 
flat side up (facing the 
Deadbolt Latches).

a

MJ (2)

 ML (3)

Hardware Bags: 1025620, 1012086
7/16” Wrench
Screwdriver

c

(Not Actual Size)

CA (2)

Back of 
Door

Attach three Door Braces (AE) to the back of the door with 1/4” x 5/8” Screws (FE).b

Holes for 
handle

AE AE AE

AG

FE

AE

AB

AB

Hardware from this Kit

Screwdriver

FE (9)

Hardware from the Shed MC (2)

MP (3)

ML

b.  Attach the Left Door Latch (CH) to the 
Strike Plate with two (2) Carriage Bolts (MC) 
and two (2) Cap Nuts (MJ).

ML

ML

BC

MP

MP

c.  Attach the Left Door Handle (BC) using 
three (3) Washers (MP) and three (3) 
Screws (ML).

MJMC

CL

CH

You may need to nudge the 
Door End Channel to make 
these holes line up with the gap 
in the door.

a.  Slip the Strike Plate 
(CL) over the Left Door 
and align the holes.

TOP

BOTTOM

CA

CA



�

Right Door Assembly
a Rest Right Shed Door (AA) with front side down, then 

slide Door End Channel (AG) onto the door.

Back of 
Door

b

Screwdriver

Holes for 
handle

Attach three Door Braces (AE) to the back of the door with 1/4” x 5/8” screws (FE).

AE

AE

AE

FE (9)

FE

AE

AG

AA
AA

Hardware from the Shed

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.



�

Attach Door Mechanism 
Spring (MH) to handle 
assembly. Set the door aside.

Use pliers to pull 
spring down and hook 

into bottom hole.

d

c Hardware Bags: 1012086 7/16” WrenchScrewdriver

MG (2) (Not Actual Size)MF (2)

MD (2)

MP (3)

ML (3)

MH (1)

Tighten All Hardware

Hardware from this Kit

1.

CC

BB

Fit Thumb Lever Knobs 
into Handle Grooves.

2. Rotate the Thumb Lever into 
the handle.  Slide forward 
until the Knobs fit into the 
holes in the handle.

3.

CC

BB
Attach the Handle and Thumb lever to the 
Door.

MP

MP

CC

BBKnob

Groove

Knobs snap 
into Holes

ML

ML

Attach Door Mechanism Spring (MH) to 
handle assembly. Set the door aside.

e

CBCF

MH

CF

CB

CG

MF

MD

MG
MN

MN (2)



�

Use the Wall Support Channels, Extension Channels and hardware from your Shed and follow the instructions 
below for the rear of the Shed.

Assemble & Install Wall Support Channels

Attach a Short Vertical Extension 
Channel (AJ) to a Wall Support Channel 
(AA). Be sure that the Extension Channel 
is installed in the correct direction. 
Repeat.

a

b

Screwdriver, 7/16” Wrenches (2)

FE (16)

Install the Wall Supports with Extension Channels on the Rear Wall at the locations 
shown. Do not completely tighten the screws until after the Rear Gable is installed.

Build Two Supports:

MJ (4)
FB (4)

AJ

MJ FB

AJ

AJ

AA

Use the 
holes in 
column 
#3

1 32 1 32
Use the 
holes in 
column 
#1

Use these holes to 
Attach the Wall 
Support Channel

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.

Hardware from the Shed



�

Hardware Bags: 1000427

Install Front Gable

Screwdriver

FE (10)

Set a Gable on the top of the Rear Wall and screw into place. 
Also screw the Vertical Extension Channels (AJ) into the Gable.

a

Tighten the Screws on the Wall Supports  
after the Gable is installed.

After installing your front Gable as per the Owner’s Manual, use the Gable and hardware from your Shed and 
follow the step below to install the Gable at the rear of the shed . 

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.

Hardware from the Shed

Hardware Bags: 1012086
7/16” Wrench

Install Door Frame & Doors

Insert Carriage Bolt (MA) into Door Frame Floor Bracket (CD) 
and the bottom of the Left Door Hinge (AJ). Place a Cap Nut 
(MJ) loosely on the end of the Carriage Bolt. Repeat for the Right 
Door Hinge (AH).

a

AJ
AH

CD CD

MA
MA

MJ

MJ

MJ (2)MA (2)

WARNING
Do not overtighten the Cap Nut. If the end of 
the Bolt breaks through the plastic cap, call our 
Customer Service Department at the number 
on Page One. Exposed threads on the end of 
the Bolt may cause serious injuries.

After installing the Door Frames and Doors at the front of the shed (as per 
the Owner’s Manual) use the Parts and Hardware from this kit and follow 
the steps below to install the Doors and Door Frames at the rear of the 
shed. 

Hardware from this Kit



10

Push a Carriage Bolt (MA) through the hole in 
the top of the hinge and loosely place a 1/4” 
Cap Nut (MJ) on the bolt. Put the Left Door 
Hinge (AJ) into position. Repeat for the Right 
Door Hinge (AH).

b

c While one person holds the Door Header Channel (AK) in place, remove the Cap Nut (MJ) 
and slide the Door Header Channel (AF) over the bolt. Replace and tighten the Cap Nut (MJ). 
Remove the Cap Nut (MJ) and slide the Door Header Channel (AF) over the Carriage Bolt (MA). 
Replace and tighten the Cap Nut (MJ). Screw the Door Header Channel to the Gable.

AJ
AH

MJ

MA

MJ

MA

MA

MJ

MA

MJ

Hardware Bags: 1012086

MJ (2)MA (2)

AF
AF

Left Door Hinge Right Door Hinge

Identify Left and Right Door Hinges

Each hinge has two components. A wider Wall channel that fits over the wall, 
and a thinner Door Channel that holds the Door. When installed correctly the 
“Door Channel”  hinge will be above the  “Wall Channel” hinge.

A
ss

em
bl

y 
Ti

p 
#7

WARNING
Do not overtighten the Cap Nut. If the 
end of the Bolt breaks through the 
plastic cap, call our Customer Service 
Department at the number on Page 
One. Exposed threads on the end of 
the Bolt may cause serious injuries.

Hardware from this Kit

7/16” Wrench

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.



11

Screw the Door Frame Floor Brackets (at the 
bottom of each hinge) to the floor. Insert the 
remaining screws into the Door Hinges.

d

FE FE

CD

CD

e Install a Gable Truss Brace (BD) between the front truss and the Gable. Screw the Gable Truss 
Brace (BD) into the Door Header Channel.

BD

Hardware Bags: 1012086

MM

MB
MK

MK (1) MB (1)MM (2)

WARNING
Do not overtighten the Cap Nut. If the end of 
the Bolt breaks through the plastic cap, call our 
Customer Service Department at the number 
on Page One. Exposed threads on the end of 
the Bolt may cause serious injuries.

FE

FE

There are no pilot holes in 
the Gable to receive the 

screws (MM). Insert them 
directly into the plastic.

Hardware from this Kit

Screwdriver

FE (14)

Hardware from the Shed

Screwdriver, 7/16” Wrench

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.



12

f Lift and slide Left Door onto Hinge.

WARNING
Look for overhead power lines before climbing 
ladders, or lifting shed parts over your head. 
Failure to do so may result in electrical shock 
or other serious injury or death.

Put Washers (MN) and Cap Nuts (MJ) on 
Bolts (MC).

MC
MN

MJ

Hardware Bags: 1012086 Screwdriver, 7/16” Wrench

MJ (2)
MN (2)MC (2)

Secure with a 1/4” x 1 1/2” Bolt (MC), 1/4” Washers 
(MN) and 1/4” Cap Nuts (MJ).

g

WARNING
Do not overtighten the Cap Nut. If the end of 
the Bolt breaks through the plastic cap, call our 
Customer Service Department at the number 
on Page One. Exposed threads on the end of 
the Bolt may cause serious injuries.

Hardware from this Kit

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.



13

Lift and slide Right Door onto Hinge and secure with a 1/4” x 1 1/2” Bolt (MC), 1/4” Washers (MN) and 
1/4” Cap Nuts (MJ).

h

There may be uneven spacing between and around 
the doors at this stage of assembly. This is normally 

resolved as you complete the remaining assembly steps. 
If, after assembly, the spacing is still uneven,  see the 
“Adjust Door Spacing” step at the end of this manual.

Put Washers (MN) and Cap 
Nuts (MJ) on Bolts (MC).

Door Hinge Alignment
Use this tip if the shed doors will 
not close or latch completely:

1. Open the door that won’t 
close.
2. Apply downward pressure on 
the door (next to the hinge) by 
either hanging on the door or 
tapping with a rubber mallet 
(place a piece of wood between 
the mallet and the door to avoid 
damage to the door).

A
ss

em
bl

y 
Ti

p 
#8

Screw the Deadbolt Strike Plate (CJ) into place in the doorway with #10 x 1/2” 
Screws (MM).

i

Hardware Bags: 1012086

MJ (2)
MN (2)MC (2) MM (2)

CJ

MM

Screwdriver, 7/16” Wrench

Hardware from this Kit

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.

MC
MN

MJ



14

Skip this Step in the Owner’s Manual. Your shed now has doors at both ends instead of a “Rear 
Wall.”

Assemble & Install Rear Wall Supports

Install Rear Gable
Skip this Step in the Owner’s Manual. You should have already installed both Gables, along with 
Doors at both ends of the shed.

Attach Door Trim
After installing the Door Frames and Doors at the front of the shed (as per 
the Owner’s Manual) use the Parts and Hardware from this kit and follow 
the steps below to install the Doors and Door Frames at the rear of the 
shed. 

Hardware Bags: 1012086

Hardware from this Kit

NOTE: The step numbers and ID letters used on this page may differ from those in your Owner’s Manual.

a Slide Side Door Trim (AD) into place onto door hinge brackets.

b

Screwdriver

 MM (8)

AD AD

Attach four Door Trim Brackets (CE) above the door frame. 

CE

MM
Look for screw hole  
locator marks above 

door frame.



15

Slide Door Trim Clips (CK) into the top of the Side Door Trim (AD) (Fig. 1), on each side of the door. 
Slide the Top Door Trim (AC) into place, and Secure with the Door Trim Clips (Fig. 2).

c

AC

Fig. 1 Fig. 2

CK

AC

AD

CK

AD
You may need to slightly bend 
the tab outward with pliers.

Remaining Shed Installation
Follow remaining installation steps as found in the Owner’s Manual.

NOTE: The ID letters and numbers used on this page may differ from those in your Owner’s Manual.


